Compte Est Bon N°0.

6 4 3 8 50
1°" solution 2°M¢ solution 3°M® solution 4°™ solution 5°™¢ solution
6+4=10 4x8=32 4+2=6 6 x 50 =300 50-8=42
50 x 10 =500 32 +50=82 6+6=1 4+2=6 6 x42 =252
500+ 2 =250 6+2=3 50+1=51 6x8=48 252 +3 =255
8-3=5 82+3=85 5 x 51 =255 48 —3 =45
250 + 5 =255 3 x 85 =255 300 — 45 =255
Compte Est Bon N°00.
7 50 7 9 4
1°"® solution 2°™ solution 3°™ solution 4°™ solution 5°™ solution
7x7=49 7 x50 =350 7x9=63
4+3=7 4x7=28 4-3=1
49 —-7=42 350+ 28 =378 7-1=6
9x42 =378 6 x 63 =378
Compte Est Bon N°0. :
6 4 3 8 50
1°" solution 2°M¢ solution 3°M® solution 4°™ solution 5°M® solution
6+4=10 4x8=32 4+2=6 6 x 50 =300 50-8=42
50 x 10 =500 32 +50=82 6+-6=1 4+2=6 6 x 42 =252
500+ 2 =250 6+2=3 50+1=51 6x8=48 252 + 3 =255
8-3=5 82+3=85 5 x 51 =255 48 —3 =45
250 +5 =255 3 x 85 =255 300 — 45 =255
Compte Est Bon N°00.
7 50 7 9 4
1°" solution 2°M¢ solution 3°M® solution 4°™ solution 5°™¢ solution
7x7=49 7 x50 =350 7x9=63
4+3=7 4x7=28 4-3=1
49 -7 =42 350 +28 =378 7-1=6
9 x42 =378 6 x 63 =378




